% 11 S

W#: g
% P

2022 4F 4 H 27 H

ST AR, AR,
iR A B, 5 20
wZ% T HERR, Wathsii.
Bihe, BB S R,

1 fialk (i85 )

W 1 (TC 6.1-2)

Wi 2 (TC 6.1-7)

BiH 3 (TC 6.2-5)

WiH 4 (TC 6.2-6)




811 Pk ST 2

WiH 5 (TC 6.3-3)

BWH 6 (TC 6.4-2)

WH 7 (TC 6.4-4)

W 8 (TC 6.4-5 (*))

fire % -

BiH 9 (TC 6.5-5)
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BiH 1 (Heap Equality)

Prove that
1
VheZt: [log(bhj +1)]+1=[log(h+1)].
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3 Open Topics

Open Topics 1 (Binomial Heaps)
45 Binomial Heap ZHES5H4 .
ZHE R

o Problem 19-2 of (EHESIE)

e Binomial heap @ wiki

Open Topics 2 (Fibonacci Heaps)

74 Fibonacci Heap ¥i45H4 . AR/ H AR TR T INES -
S5 Gk

o Chapter 19 of (EHEZIEY

o Fibonacci heap @ wiki
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https://en.wikipedia.org/wiki/Binomial_heap
https://en.wikipedia.org/wiki/Fibonacci_heap
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